Application of the Residue Theorem for a Fourier integral  $J = \int \frac{P(x)}{Q(x)} \cdot e^{i\alpha x} dx$ , where P, Q are polynomial functions,  $f(z) = \frac{p(z)}{Q(z)} \cdot e^{i\lambda z}, z \in C \setminus S$ 1 e H (C-S). Zetro, D= {zeC: Jm 200} Dr=Dn U(0,2). Xet 8, (+) = (-2) (1-t) + 22 + te (0,1), N2(t) = 2 e Wict-1) , to[1,2], Xn = X1 U X2. [1] (of Periolne Thun, Course 13) = )  $\int f = 2\pi i \sum Res(f, 20)$ .  $\int f = \int f + \int f = \int f(-n+2nt) \cdot 2n \, dt + \int f(ne^{\pi i(t-n)}) \cdot ne^{\pi i(t-n)} dt$  $\frac{\mathcal{E}=-\pi+2\pi t}{\tau=\pm-1} \int_{\Gamma} \frac{P(x)}{Q(x)} \cdot e^{idx} dx + \int_{\Gamma} \frac{P(\pi e^{iit})}{Q(\pi e^{iit})} \cdot e^{id\pi} \int_{\Gamma} \frac{\pi i \tau}{\pi i \tau} d\tau$  $\lim_{N\to\infty}\int_{-N}^{1}\frac{P(x)}{Q(x)}\cdot e^{ix}x=\int_{-N}^{\infty}.$ St P(Relit). Q idr(cos(rt)+ism(rt))
Q(relit). Q

P(relit) 

$$\frac{E_{X}}{\sum_{x=+1}^{\infty} \frac{C_{X}}{x^{2}+1}} dx = ?$$

$$\int_{0}^{\infty} \frac{e^{3\lambda t}}{x^{2} + \lambda} dx = 1$$

$$\int_{0}^{\infty} \frac{e^{3\lambda t}}{x^{2} + \lambda} dx = \frac{1}{2} \int_{-\infty}^{\infty} \frac{e^{ix}}{x^{2} + \lambda} dx = \frac{1}{2} \int_{-\infty}^{\infty} \frac{e^{ix}}{x^{2} + \lambda} dx = \frac{1}{2} \int_{-\infty}^{\infty} \frac{e^{ix}}{x^{2} + \lambda} dx.$$

$$= \frac{1}{2} \int_{-\infty}^{\infty} \frac{e^{ix}}{x^{2} + \lambda} dx.$$

$$\int = \int_{-\infty}^{\infty} \frac{P(\xi)}{Q(\xi)} \cdot e^{id \cdot \chi} d\chi, \text{ where } P(\xi) = 1, \quad \chi \in \mathbb{R}$$

$$Q(\xi) = \xi^2 + 1, \quad \chi \in \mathbb{R}$$

$$d = 1.$$

$$\deg Q = 2 > \deg P + 1 = ) \int = 2\pi i \sum_{26 \in S \cap D} Res(4, 20)$$

$$S = \{ 2 \in \mathbb{C} : Q(2) = 0 \} = \{ 2 \in \mathbb{C} : 2^{2} + \lambda = 0 \} = \{ -i, i \}$$
=)  $J = 2\pi i \text{ Res}(f, i)$ .

$$\begin{cases} (z) = \frac{1}{2^{2}+1} \cdot l^{\frac{1}{2}} \\ \geq \epsilon \cdot (-i,i) \end{cases} \qquad (z^{2}+1=(z+i)(z-i))$$

$$f(z) = \frac{g(z)}{z-i} \\ \geq \epsilon \cdot l(i,1) \qquad g(z) = \frac{g^{\frac{1}{2}}}{z+i} \qquad z \in l(i,1)$$

$$g \in \mathcal{J}((l(i,1)) \qquad g(i) = \frac{e^{-1}}{2i} \neq 0 \qquad \text{i.i.} \quad \text{a pole of and. 1}$$

$$\begin{cases} R_{2} \\ \end{cases} \qquad \text{Pay} (f,i) = \lim_{z \to i} (z-i) f(z) = \frac{e^{-1}}{2i} = 0 \qquad \text{i.i.} \quad \frac{e^{-1}}{2i} = \frac{1}{2}$$

$$\begin{cases} R_{2} \\ \end{cases} \qquad \text{Pay} (f,i) = \lim_{z \to i} (z-i) f(z) = \frac{e^{-1}}{2i} = 0 \qquad \text{i.i.} \quad \frac{e^{-1}}{2i} = \frac{1}{2}$$

$$= \sum_{i=1}^{\infty} \frac{\log x}{x^{2}+1} dx = \frac{1}{2} \int_{-1}^{\infty} \frac{e^{i2}}{2} dx$$